
TVC
01

O
ri

gi
na

l D
ra

w
in

g 
C

. S
ch

w
ar

z,
 L

os
t A

rt
 P

re
ss

D
et

ai
l D

ra
w

in
g 

D
 R

 H
ill

,
T

he
 V

er
on

a 
C

om
pa

ny
, 

Se
pt

em
be

r 
20

14

N
ic

ho
lso

n 
K

no
ck

-
do

w
n 

W
or

k 
B

en
ch

Sc
al

e:
Is

om
et

ri
c 

V
ie

w
s  

1:
3 

O
rt

ho
go

na
l T

op
 V

ie
w

 1
:8

A
ss

em
bl

ed
 B

en
ch

 w
ith

 
G

ra
m

er
cy

 H
ol

df
as

t 

Bench&shown&below&with&Gramercy&Holdfast&
and&op7onal&jig&to&hold&material&against&
built&in&plan&stop&for&hand&planning&

Moveable(Plan(Stop((

Note(how(corner(of(Plan(Stop
is(supported(by(leg(and(front(panel

Op;onal(Metal(support(
plate(to(protect(front(

edge(of(Plan(Stop(opening(

Cleat

Bracket(for(3/8"
Bolt(to(secure(
Cleat(onto(Bench(

Note:(Moun;ng(brackets(for(securing(legs(to(side(panels
and(top(are(typical(plumbers(3/8"(threaded(rod(brackets.
In(the(Lost(Art(Press(blog(Chris(uses(14(brackets(from(McMasterKCarr
(item(#(11445T1)(and(one(TKnut(from(McMasterKCarr(
(item(#94122A200(or(the(6(prong(version(90975A163).
In(the(drawing(above(I(have(used(a(recessed(11445T1(bracket(to(
aide(in(securing(the(cleat(to(the(bench(instead(of(a(TKnut.

24"

3"

1/4"(to(3/8"(thick

Cri;cal(Part
of(jig(is(this
right(angle(

cutKout



TVC
02

O
ri

gi
na

l D
ra

w
in

g 
C

. S
ch

w
ar

z,
 L

os
t A

rt
 P

re
ss

D
et

ai
l D

ra
w

in
g 

D
 R

 H
ill

,
T

he
 V

er
on

a 
C

om
pa

ny
, 

Se
pt

em
be

r 
20

14

N
ic

ho
lso

n 
K

no
ck

-
do

w
n 

W
or

k 
B

en
ch

Sc
al

e:
O

rt
ho

go
na

l V
ie

w
s 

1:
12

C
le

at
 V

ie
w

s 
1:

8
N

ot
e:

 A
ll 

bo
ar

ds
 1

 1
/2

" 
th

ic
k 

un
le

ss
 o

th
er

w
ise

 n
ot

ed

T
op

 &
 L

eg
 D

et
a
il
s

45"

18
"

22
 1

/2
"

72"

10 3/4"

4"
2 

1/
4"

6 1/2"

Metal&Re(enforcing&plate
to&protect&Plan&Stop&Hole

Ensure&hole&placement&allows
holdfast&to&clear&side&panel&

Hole&placement&for&Holdfast
up&to&builders/users&discre=on

Moun=ng&holes&for&3/8"&dia
bolt&w/recess&1"dia&x&1/2"&deep
allows&bolt&head/washer&to&be
below&top&surface&of&bench

Top&of&Top

BoFom&of&Top

5 1/2" 32 1/2"

21 1/4"

11 1/4"
5 1/2"

5 1/2"

5 
1/

2"

Notch&1&1/2"&deep

19
 1

/2
"

16
 1

/2
"

7/16"&Holes&
to&accommodate&
3/8"&bolts

7/16"&holes&for&3/8"&bolts&to&secure&top&or&side&panel
moun=ng&bracket&on&other&side&of&this&board

22
 1

/2
"

16
 1

/2
"

1"&square&stock
3&woods&crews&used&to&

secure&"shelf&lip"&to&leg&stretcher

Leg&Stretcher&secured
to&leg&uprights&using&

4&wood&screws

Leg&front&plate&secured
to&uprights&using&wood&screws
3/4"&holes&for&storing&Holdfast

Front&of&Leg Back&of&Leg

Top&View&of&Leg

Details&of&Leg&Parts

3/4"&holes&for&
Holdfast&

12"

2&1/2"&Square
Plane&Stop&

3"

12 3/8"

10 5/8"

2 
1/

4"

4"

This&hole&&&center&hole&for&3/8"&lag&
screw&w/washer&cannot&use&thru&bolts&
will&interfere&with&plane&stop&
movement&up&&&down

Cleat&Details

Hole&for&3/8"&bolt&
that&goes&thru&to&moun=ng&bracket&
on&other&side&of&front&side&board



TVC
03

O
ri

gi
na

l D
ra

w
in

g 
C

. S
ch

w
ar

z,
 L

os
t A

rt
 P

re
ss

D
et

ai
l D

ra
w

in
g 

D
 R

 H
ill

,
T

he
 V

er
on

a 
C

om
pa

ny
, 

Se
pt

em
be

r 
20

14

N
ic

ho
lso

n 
K

no
ck

-
do

w
n 

W
or

k 
B

en
ch

Sc
al

e:
O

rt
ho

go
na

l V
ie

w
s 

1:
12

N
ot

e:
 A

ll 
bo

ar
ds

 1
 1

/2
" 

th
ic

k 
un

le
ss

 o
th

er
w

ise
 n

ot
ed

Si
de

 P
an

el
 D

et
ai

ls
Sh

el
f D

et
ai

ls

Front&Side&PanelBack&Side&Panel

10 3/4"

3"

10
"

11
 1

/4
"

2 1/2"

45"

72"

11
 1

/4
"

64"

Front&
Front&

Back
Back

2nd&layer&panel&cut&
from&1"&x&10"&board

2nd&layer&panel&cut&
from&1"&x&10"&board

Hole&Pa;ern&for&Holdfast&
is&up&to&builders/users&discre?on

11
 1

/4
"

Verify&during&construc?on
that&leg&fronts&fit&in&this&space

Ensure&hole&placement
does&not&encounter&the&&
"under&board"&of&top

Holes&for&a;aching
Cleat&to&side&PanelMoun3ng&holes&for&3/8"&dia&bolt&w/recess&1"dia&x&1/2"&deep

allows&bolt&head/washer&to&be&below&surface&of&leg&side&panel

53"

16
 1

/2
"

Shelf&boards&cut&from&1"&x&10"&board

Batens&cut&from&1&1/2"&thick&stock&2"&wide
secured&to&shelf&boards&with&wood&screws

2"

2"

Angle&cut&to&make&
cleaning&off&lower&
shelf&easier

14
 1

/2
"

Front&of
Shelf

Back&of
Shelf

7 
1/

4"


